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INSTRUCTIONS TO CANDITIATES

Yorur stooredd have e following for this examination:
Amswer bookier;
Merhemarical rables;
Lrawing [Rsiriinenids.
This paper copsists of THREE sections; A, B and C.
Answer ALL the questions in part T of each section, ary TWO questions in part I ef seciions A and B
arel any FIVE questions in part IT of section €.
Maximum arks for each part of @ question are show.
Candidates should answer the questions in English.

I'his paper consists of § printed pages.

Candidates should check the question paper to ascertain that all
pages are printed as indicated and that no questions are missing.
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SECTHMN A: MATHEMATICS
PART 1 (24 maerks)

Armswer ALL qguestions in this part.

L. Facterise the quadratic expression

a —ix+16: {3 marks)
2 Figure | shows a right angled triangle.

A GIE
Fig. 1

Use trigonometric ratios 1o ind the value of x. {3 marks)
3, Tane boght-a dress at Kshs 35000 and later wkt;ii at Kshs 2800, Determine the percentage loss

she mncurred, (3 marks)
< Using mathematical tubles, evaluate:

291 X681
o
{3 marks)
! Sumplif H-;.-’w' et (3 marks)
N e : .
. Make g the subject of the formula o=+t {3 marks)
e Dxetermine the aren of the sector of a circle of radius 3 co if the angle subtended &t the centre
i 5

B L, | Take 7= _3_;_., ;I {3 miarks)
5, Convernl the recurring decimal (173 nto a fraction. {3 marks)
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FART I (16 marks)

dnswer ary. THO quesiions from this uliles

i The cost of 4 handkerchiefs and 3 pairs of socks 15 Kshs 3400 17 3 handkerchiets and
4 pairs of socks cost Kshs 393, Determine the price of each mem_

(8 ks )

10k Table 1 shows the masses of children n a play group.
Table 1
Wace ik
sty 54 | 38 | 3z | 400 | 402 | 410 | 44
Mo, of children 4 3 2 2 2 14 H
(a) Determiine the
{1} I,
(i} mode
{5 marks)
(b} Reprezent the data in a bar chart. {3 marks)
11,  Figure 2 shows a right pyramid whose base is 4 sypare of side 10 cm and its slant side 1s

15 cmlong.

A N R

g

() Diraw the net for the above pyramid

(133 Calcufate the surface ared of the pyramid esing the net m fa)
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SECTION B: SCIENCE
PART I (24 murks)

Answer ALL questions from this part.

(3 miarks)
(3 marks)
(3 marks)

(1 mark)
(2 marks)

{3 marks)

£ mark)
(1 mark)
{1 mark)

(2 marks |

{ | mark})

(2 marks)

. State the three modes of heat transter.
13.  List three sources of electricily,
14 Outline three ways throngh which a magnet may lose its magnetism.
152 iak Define an alloy.
b} State two examples of alloys.
1fi.  State three methods that may be used to reduce friction.
1 Diefine each of the following chemical tenms:
{a) Element.
(b} Compourd.
(c) Acid,
I8.  State three applications of electrolysis.
9.  Figore 3 shows a distance-time graph of @ motorist travelling from Town A to Town B,
From the graph, determine the:
(3 Distance that the motonst had covered by 1300 anm.
i) Average speed for the whole joumey.
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FART IT (16 marks)
Arswer THE guestions from this parr,
M () Define morment of force. (2 marks)

i) Figure 4 shows a uniform metre mle balanced by three masses placed st A, B and C
DPetermine the weight W placed at C so that the metre rule balances horizoneally,

[fomarks)y

2N 1M
! =]
[ =]
A F C

a0 .cm 1 cm

AT Y State fwo copper orcs. {2 marks)
ih) A nmachine 15 vsed to Bift a mass of 200 ke Af the machine has a velocity ratio of 5

and an efficiency of #0%, calculate the:

(it  mechanical advantage;
{ir)  effort applied
(2= 10 Nike)

{6 marks)
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22 State twio tvpes of curved mimors, (2 miarks)
(by  Figure 5 shows an object placed between the centre of curvature (<) and the principal
focus (f) of & curved mimor.
Cibject
L
k
F
Fig. 5
(1) Copy and complete the diagram using rays and locate the position of the image.
ti) Outline three charactenistics of the image formed.
{6 marks)
SECTION C: GENERAL STUDIES
PART.I (20 marks)
AnswerBOTH questions i Part 1.
23 Passo Limsted recently donated some equipment 1o a charitsble orpanization. Assuming that
you work at the charitable organization, write a [etter of appreciation o the management of
Passo Limited. { 10 marks)
24, (i) List four factors that may mfluence the choice of a business location. {4 marks)
(b} Stale twa cultural beliefs that may promote overpopulation. 12 marks)
{ch Chtline two ways through which a person may save money. {2 marks)
id) State two duties commonly performed by a mother in 4 famly. i 2 marks)
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25 in)
133]
26, [a)
(b}
7 {a)
{b)
123- {H.}
ih)
L {a)
ih)
0. {a)
(b}
31. {a)
(b
L (al
by
0101215
n103215
0105215
0106215
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PART IT (20 marks)

Answer any FIVE gueestions from this part,

List two types of visual communication that may be used in an prganization.
' {2 marks)

State two barriers to effective communication that miy be caused by the sender.

(2 marks)
List two sources of finance for a partnership form of business. {2 marks)
Outhine twe characteristics of 4 perfectly competitive market. (2 marks)

List two types of information that an employee may be reguired to fill in a form when
reguesting for permission. (2 miarks}

Siate two cfficts of good public relalions on an Gsganization. (2 marks)

Outline two factors that may be considered when setting the price of a commodity.

(2 marks)
List two methods of sales promotion. (2 marks)
State two health benefits of cngaging j.uapm:s- {2 marks)
Outline two ways through which an mdividual may misuse leisure. (2 marks}
State twi advantages of bateh production. {2 marks)
Omtline two advantases of making payments by cheque. (2 marks)
Outline two measures that may be taken to control soil erosion. (2 marks)
Siatc two cffects of overpopulation in s country. (2 marks)

Outline two problems that may arise i an oTgLmzanon as a result of poor budgeting
(2 marks)

Spite two benelits of using an energy-saving jiko. {2 marks)
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